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lkekU; Kku 

1- gM~Mh dk iz;ksx moZjd ds :i esa djus ls ikS/ks 

esa fdl rRo dh deh dks nwj fd;k tk ldrk 

gS\ 

(A) QkWLQksjl  (B) iksVsf'k;e 

(C) dSfY'k;e  (D) ukbVªkstu 

2- gjs izdk'k esa xqykc dk jax fn[kkbZ nsrk gS& 

(A) yky  (B) lQsn 

(C) xqykch  (D) dkyk 

3- lkmFk&lkmFk laokn fuEUfyf[kr esa ls fdlls 

tqM+k gS \ 

(A) fodkl'khy ns'kks dh lgdkfjrk 

(B) 'kL= lEesyu 

(C) fodflr rFkk fodkl'khy ns'kks ds chp 

f'k[kj cSBd 

(D) buesa ls dksbZ ugha 

4- twu&2017 esa 'ka?kkbZ lg;ksx laxBu  dh cSBd 

dgk¡ lEiUu gqbZ \ 
(A) vLrkuk  (B) fo’dsd 

(C) vYekVk  (D) nq’kkUos 
5- fuEufyf[kr esa ls dkSu&lk laxBu lcls iqjkuk 

gS\ 

(A) IMF  (B) WHO 
(C) ILO  (D) FAO 

6- veR;Z lsu dks fdl {ks= esa ;ksxnku ds fy, 

ukscsy iqjLdkj feyk\ 

(A) eqnzk vFkZ'kkL= esa (B) dY;k.k vFkZ'kkL= esa 

(C) vFkZfefr esa  (D) fodkl vFkZ'kkL= esa 

7- dkSu&lk ;qXe lqesfyr ugha gS\ 

(A) xhr xksfoUn  & t;nso 

(B) ;ksx'kkL=  & gsepan 

(C) Jh Hkk";  & jkenso 

(D) fl)kUr f'kjksef.k & HkkLdjkpk;Z 

8- ^n fgUnw O;w vkWQ ykbQ* ds ys[kd gSa& 

(A) vkj-osadVje.k (B) ,l-jk/kkd`".ku 

(C) oh-oh-fxfj  (D) ,u- lathojsM~Mh 
 

 

General Knowledge 
1- Which of the following element 

deficiency can be removed in the 
plants by using bones as fertilizer? 
(A) Phosphorus (B) Potassium 
(C) Calcium  (D) Nitrogen 

2- The colour of rose in green light 
looks- 
(A) Red  (B) White 
(C) Purple  (D) Black 

3- South-South dialogue is related 
with- 
(A) Co-operation of developing 
countries. 
(B) Arms Conference 
(C) Summit between developed and 
developing countries. 
(D) None of these 

4- Where S.C.O. meeting organised 
during june-2017? 
(A) Astana            (B) Bishqek 
(C) Almata  (D) Dushanve 

5- Which of the following is the oldest 
organization? 
(A) IMF  (B) WHO 
(C) ILO  (D) FAO 

6- Amartya Sen was bestowed with 
Nobel prize for his contribution in- 
(A) Monetary economics 
(B) Welfare economics 
(C) Econometrics  
(D) Development economics 

7- Which of the following is 
incorrectly matched? 
(A) Geet Govind  - Jaidev 
(B) Yogashastra - Hemchand 
(C) Sri Bhasya - Ramdev 
(D) Siddhanta Shiramani- Bhaskaracharya 

8- Author of "The Hindu view of life" 
is- 
(A) R. Venkatraman 
(B) S. Radhakrishnan 
(C) V.V. Giri   

 (D) N. Sanjeeva Reddy 
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9- ^fFk;kslksfQdy lkslkbVh* us Hkkjr esa viuk eq[; 

dk;kZy; dgk¡ ij LFkkfir fd;k Fkk\ 

(A) eqEcbZ  (B) vgenkckn 

(C) psUubZ  (D) dksydkrk 

10- Hkkjr esa loZizFke Lo.kZ eqnzkvksa dks iw.kZ:i ls 

fu;fer ,oa izpfyr djus dk Js; fdu 'kkldksa 

dks tkrk gS \ 

(A) ;wukuh  (B) 'kd 

(C) dq"kk.k  (D) iYyo 

11- lYrur dky ds lHkh lqYrkuksa dh jktHkk"kk Fkh& 

(A) vjch  (B) Qkjlh 

(C) rqdhZ  (D) mnwZ 

12- fuEufyf[kr esa ls dkSu&lqesfyr ugha gSaA 

(A) vCnqy x¶Qkj [kk¡ & lhekUr xkU/kh 

(B) nknk HkkbZ ukSjksth &Hkkjr dk HkO; o`) iq#"k 

(C) eksgunkl dje pUn xk¡/kh & ykSg iq#"k 

(D) johUnz ukFk VSxksj & xq#nso 

13- Hkkjrh; jk"Vªh; dk¡xzsl dh izFke Hkkjrh; efgyk 

v/;{k dkSu Fkh \ 

(A) eSMe ,suh cslsUV (B) ljksftu uk;Mw 

(C) fot;ky{eh iafMr (D) lqpsrk d`iykuh 

14- fdl lafo/kku la'kks/ku dks Hkkjr dk y?kq 

lafo/kku dgk tkrk gS \ 

(A) 24ok¡ la'kks/ku 

(B) 42ok¡ la'kks/ku 

(C) 44ok¡ la'kks/ku 

(D) mijksDr esa ls dksbZ ugha 

15- ^Nk;k eaf=eaMy* fdldh iz'kklfud O;oLFkk dh 

fof'k"Vrk gS \ 

(A) USA  (B) Ýkal 

(C) tkiku  (D) fczVsu 

16- fdl ns'k us flfoy lsok dh izfr;ksxh ijh{kk 

lcls igys 'kq# dh FkhA 

(A) Hkkjr   

(B) fczVsu (C) phu   

(D) vesfjdk 

 

 

 

 

9- "Theosophical society" set up its main 
office at- 

(A) Mumbai  (B) Ahmedabad 
(C) Chennai  (D) Kolkata 

10- Who among the following ruler is 
credited for first regulating and 
popularizing gold currency 
completely in India? 
(A) Greek  (B) Shaka 
(C) Kushan  (D) Pallavas 

11- The official language during the 
sultanate period was- 
(A) Arabic  (B) Persian 
(C) Turkish  (D) Urdu 

12- Which of the following is 
incorrectly matched? 
(A) Abdul Gaffar khan – Simant 
Gandhi 
(B) Dada Bhai Nairoji – The grand old 
    man of India. 
(C) Mohandas Karamchand Gandhi – 
     Iron man  
(D) Rabindranath Tagore – Gurudev 

13- Who was the first Indian woman 
president of Indian National 
Congress (INC)? 
(A) Madame Annie Besant 
(B) Sarojini Naidu 
(C) Vijay Lakshmi Pandit 
(D) Sucheta Kriplani 

14- Which of the following 
constitutional amendment is known 
as 'Mini constitution'? 
(A) 24th amendment 
(B) 42nd amendment 
(C) 44th amendment 
(D) None of these 

15- Which of the following country has 
the feature of "Shadow cabinet" in 
the administrative system? 
(A) USA  (B) France 
(C) Japan  (D) Britain 

16- Which of the following country first 
started the competitive 
examination for civil services? 
(A) India  (B) Britain 
(C) China  (D) America 
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17- mPpre U;k;ky; }kjk fdrus izdkj dh fjVsa 

tkjh dh tk ldrh gSa \ 

(A) 2   (B) 3 

 (C) 4   (D) 5 

18- fdl jkT; esa dksbZ jsyos LVs'ku ugha gS \ 

(A) es?kky;  (B) flfDde 

(C) ef.kiqj  (D) mijksDr lHkh 

19- dkSu&lh igkM+h iwohZ rFkk if'peh ?kkVksa dks 

tksMRkh gSA 

(A) vUUkkeq<+kbZ  (B) uhyfxfj 

(C) dM+kbZdqye  (D) osYykufxfj 

20- dkSu&lqesfyr ugha gSA 

ck¡/k  unh 

(A) fVgjh  vyduUnk 

(B) esV~Vwj  dkosjh 

(C) Fkhu   jkoh 

(D) ukxktqZu  d`".kk 

21- QhQk v.Mj &20 fo’odi 2017 dk f[krkc 

fdl Vhe us thrk \ 

(A) czkthy  (B) osustq,yk 

(C) baXyS.M  (D) nf{k.k dksfj;k 

22- Hkkjr dk 100 izfr'kr cSfdax ftyk gSA 

(A) bUnkSj  (B) Hkksiky 

(C) iyDdM+  (D) Bk.ksa 

23- Xykscy buksos’ku baMsDl&2017 esa Hkkjr fdl 

LFkku ij jgk \ 

(A) 78   (B) 60 
(C) 48   (D) 92 

24- ,f’k;u ,FkysfVDl pSafi;uf’ki&2017 esa Hkkjr us 

fdrus jtr ind thrs \ 

(A) 12   (B) 5 

(C) 8   (D) 3 

25- 18 osa vkbZQk vokMZ&2017 esa loZJs"B vfHkusrk 

dk f[krkc fdls fn;k x;k \ 

(A) vkfej [kku  

(B) v{k; dqekj 

 (C) 'kkfgn diwj  

 (D) vfHkrkHk cPpu 

 

17- How many types of writ can be 
issued by Supreme Court? 

 (A) 2 (B) 3        (C) 4        (D) 5 
18- Which of the following state doesn't 

have any railway Station? 
(A) Meghalaya (B) Sikkim 
(C) Manipur (D) All of these 

19- The mountain that connects eastern 
and western ghats is- 
(A) Annamudai  
(B) Nilgiri hills 
(C) Kadaikulam  
(D) Velliangiri 

20- Which of the following is 
incorrectly matched? 

Dam  River 
(A) Tehri  Alaknanda 
(B) Mettur  Cauvery 
(C) Thein  Ravi 
(D) Nagarjuna Krishna 

21- Who won FIFA U-20 world cup in 
2017? 
(A) Brazil          (B) Venezuala 
(C) England      (D) South Korea 

22- Hundred percent banking district of 
India is- 
(A) Indore  (B) Bhopal 
(C) Palakkad (D) Thane 

23- What is India's position in Global 
inovation index-2017? 
(A) 78                       (B) 60 
(C) 48                    (D) 92 

24- How many silver medals won by 
India in Asian atheletic 
championship 2017 ? 
(A) 12           (B) 5  
(C) 8   (D) 3 

25- Who won best actor award in 18th 
iifa awards? 
(A) Aamir Khan     (B) Akshay 
Kumar 
(C) Shahid kapoor   

 (D) Amitabh bachchan 
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26- fdl [ksy ds fy, lcls cM+s eSnku dh 

 vko’;drk gksrh gS\ 

(A)fØdsV  (B) gSUMckWy 

(C) QqVckWy  (D) iksyks 

27- ,d ehy esa fdrus fd-eh- gksrs gSa\                                       

(A)1-500  (B) 1-609 

(C)  1-709  (D)1-809 

28- tc Lora=rk dh ekmaVcsVu ;kstuk Lohdkj dh 

 xbZ] ml le; Hkkjrh; jk"Vªh; dk¡xzsl dk v/;{k 

 dkSu Fkk\ 

(A)tokgjyky usg:  

(B) ljnkj iVssy 

(C) ekSykuk vktkn  

(D) vkpk;Z ts-ch- d`iykuh 

29- yksdlHkk dk pquko yM+us ds fy, izR;k’kh dh 

 U;wure vk;q fdruh gksuh pkfg,\ 

(A)18 o"kZ  (B) 21 o"kZ 

(C) 25 o"kZ  (D) 26 o"kZ 

30- Hkkjrh; lafo/kku dh mísf’kdk esa ifjorZu fdl 

 la’kks/ku vf/kfu;e ls fd, x, Fks\ 

(A) 38ok¡ la’kks/ku vf/kfu;e] 1975 

(B) 40ok¡ la’kks/ku vf/kfu;e] 1976 
(C) 42ok¡ la’kks/ku vf/kfu;e] 1976  
(D) 44ok¡ la’kks/ku vf/kfu;e] 1978 

31- 1857 ds fonzksg ds nkSjku Hkkjr dk xouZj 

 tujy dkSu Fkk\ 

(A)ykWMZ MygkSth  

(B) ykWMZ dSfuax 

(C) ykWMZ es;ks  (D) ykWMZ fjiu 

32- cq) fdl oa’k (Clan) ls lEcfU/kr Fks\ 

(A)Kkf=dk   

(B) ekS;Z 

(C) 'kkD;   

(D) dq: 

33- Hkkjr dh tula[;k esa _.kkRed o`f) nj fdl 

 n’kd esa ntZ dh xbZ Fkh\ 

(A)1921&31   

(B) 1911&21 

(C)1941&51   

(D) 1931&41 

26- Which sport requires the biggest 

ground among the following? 
(A) Cricket  (B) Hand ball 

(C) Foot ball (D) Polo 

27- How many kms are present in a mile? 
(A) 1.500  (B) 1.609 

(C) 1.709  (D) 1.809 
28- Who was the Indian National 

congress president when mountbatten 

plan of independence was adopted? 
(A) J.L. Nehru  

(B) Sardar Patel 

(C) Maulana Azad  

(D) Acharya J.B. Kiriplani 
29- What is the minimum age eligibility 

criteria to contest Lok Sabha 

elections? 
(A) 18 years   

(B) 21 years 

(C) 25 years   

(D) 26 years 
30- When was the preamble of 

constitution amended? 
(A) 38

th
 Amendment Act, 1975   

(B) 40
th

 Amendment Act, 1976 

(C) 42
th

 Amendment Act, 1976   

(D) 44
th
 Amendment Act, 1978 

31- Who was the government general 

during the revolt of 1875? 
(A) Lord Delhousie 

(B) Lord Canning 

(C) Lord Mayo  

(D) Lord Rippon 
32- Which clan does buddh belongs to? 

(A) Gyatrika   

(B) Maurya 

(C) Shakya   

(D) Kuru 
33- When was a negative growth rate was 

observed in Indian population? 
(A) 1921-31   

(B) 1911-21 

 (C) 1941-51   

 (D) 1931-41 
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34- Hkkjr dh fdl unh dks o`) xaxk dgk tkrk gS\ 

(A)d`".kk  (B)xksnkojh 

(C) dkosjh  (D) ueZnk 

35- dEI;wVj ds fy, ^vkbZlh fpi* vkerkSj ij 

 cuk, tkrs gSa\ 

(A)Øksfe;e ds   (B) flfydkWu ds 

(C) lhlk ds  (D) dkWij ds 

36- fo’o di fØdsV esa izFke gSfVªd ysus dk Js; gS& 

(A)bejku [kku dks (B)  psru 'kekZ dks 

(C) vfuy dqEcys dks (D) uokc iVkSnh dks 

37- la;qDr jk"Vª la?k egklHkk dh izFke efgyk 

 v/;{k dkSu Fkh\ 

(A)fot;ky{eh iafMr (B)  ,suh cslsUV 

(C)  bafnjk xka/kh  (D) ljksftuh uk;Mw 

38- Hkkjr ds fdl f[kykM+h ds uke lokZf/kd juksa dk 

 VsLV Ldksj gS\ 

(A)ohjsUnz lgokx (B)  dfiy nso 

(C) lquhy xkoLdj (D) vtg:íhu  

39- ^jksolZ di* lEcfU/kr gS& 

(A)ykWu Vsful ls (B)  QqVckWy ls 

(C) 'krjat ls  (D) ckLdsVckWy ls 

40- Hkkjr esa rEckdw dk lokZf/kd mRiknu djus okys 

 jkT; gS& 

(A)xqtjkr  (B)  vka/kz izns’k 

(C) dukZVd  (D) e/; izns’k 

41- ,d lhax okyk xSaMk fuEufyf[kr izns’kksa esa ik;k 

 tkrk gS& 

(E) v:.kkpy izns’k ,oa f=iqjk 

(F) if’pe caxky ,oa vle 
(G) v:.kkpy izns’k ,oa vle 

(H) if’pe caxky ,oa f=iqjk 

42- Hkkjr esa vf/kdre ,oa U;wure tula[;k ds 

 ?kuRo okys izns’k Øe’k% gSa& 

(I) mÙkj izns’k ,oa v:.kkpy izns’k 

(J) fcgkj ,oa v:.kkpy izns’k 
(K) mÙkj izns’k ,oa flfDde   
(L) if’pe caxky ,oa flfDde 

 

 

 

34- Which river of India is known as ‘Old 
Ganga’? 
(A) Krishna  (B) Godavari 
(C) Kaveri  (D) Narmada 

35- ‘IC Chip’ used in computers are made 
of? 
(A) Chromium (B) Silicon 
(C) Lead  (D) Copper 

36- Who was the first person to take a hat 
trick in cricket world cup? 
(A) Imran Khan (B)Chetan Sharma 
(C) Anil Kumble (D)Nawab Pataudi 

37- Who was the first women president of 
U.N. Assembly? 
(A) Vijay Lakshmi Pandit   
(B) Annie Besant 
(C) Indira Gandhi  
(D) Sorajini Naidu 

38- Which Indian Player holds the record 

of scoring heighest runs in Test 

Cricket? 
(A) Virender Sehwag  

(B) Kapil Dev 

(C) Sunil Gavaskar  

(D) Azar Uddin 
39- ‘Rovers Cup’ reladed to- 

(A) Lawn Tennis (B) Foot Ball 

(C) Chess   (D) Basket Ball 
40- Which indian state is the highest 

producer of tobacco? 
(A) Gujrat   

(B) Andhra Pradesh 

(C) Karnataka  

(D) Madhya Pradesh 
41- One horned shino is found in : 

(A) Arunachal Pradesh & Tripura  

(B) West Bengal and Assam 

(C) Arunachal Pradesh & Assam  

(D) West Bengal and Tripura 
42- Which Indian states have the heighest 

& Lowest population density? 
(A) U.P. & Arunachal Pradesh   

(B) Bihar and Arunachal Pradesh 

(C) U.P. and Sikkim  

 (D) West Bengal & Sikkim 
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43- xaxk unh dh yEckbZ yxHkx fdruh gS\ 

(A) 5500 fd-eh- (B) 3500 fd-eh- 

(C) 2500 fd-eh- (D) 4000 fd-eh- 

44- dkSu&lk Hkkjrh; laLFkku varfj{k vuqla/kku dk 

dk;Z djrk gS\ 

(A)uklk  (B) ih-vkj-,y- 

(C) vkbZ-vkbZ-Vh- (D) bljks 

45- fdl ns’k eas xaxk unh czãiq= unh ls feyrh gS\ 

(A)usiky  (B) phu 

 (C) ckaXykns’k  (D) E;kaekj 

46- jk"Vªh; m|ku xqtjkr ls e-iz- ds fdl 

vH;kj.; esa 'ksjksa dks ykus dh ckr py jgh gS\  

(A) iUuk  (B) dwuks ikyiqj 
(C) pEcy  (D)cksjh 

47- ck.klkxj ck¡/k dkSu lh unh ij cuk gqvk gS\  

(A) ueZnk  (B) rkIrh 
(C) lksu  (D)rok 

48- Å"kk jkts LVsfM;e] e/;izns’k esa dgk¡ fLFkr gS\  

(A) lkxj  (B) jhok 
(C) Hkksiky  (D)bankSj 

49- e-iz- esa fdrus jk"Vªh; m|ku gSa\  

(A) 11   (B)09 
(C) 08   (D)10 

50- e-iz- esa yksdlHkk ds fy, fdruh lhVsa gSa& 

(A) 29   (B) 31 
 (C)30   (D)11 

51- ^bafM;u gkse :y lkslk;Vh* LFkkfir gqbZ Fkh& 

(A) 1900 bZ- esa (B) 1901 bZ- esa 

(C) 1902 bZ- esa (D) 1905 bZ- esa 

52- ^eyDdk tyMe:e/;* e/; fLFkr gS& 

(A) Hkkjr vkSj Jhyadk ds 

(B) b.Mksusf'k;k vkSj eysf'k;k ds 

(C) rkboku vkSj fQyhihUl ds 

(D) vkLVªsfy;k vkSj U;wfxuh ds 

53- fuEufyf[kr ioZrksa esa ls dkSu&lk bVyh esa 

vofLFkr gS\ 

(A) ,ihukbu  (B) isjsuht 

(C) fnukfjd vkYIl (D) twjk 
 

 

43- What is the length of Ganga river? 
(A) 5500 km (B) 3500 km 

(C) 2500 km  (D) 4000 km 
44- Which India institute does the work of 

space research? 
(A) Nasa  (B) P.R.L. 

(C) I.I.T  (D) I.S.R.O. 
45- In which country does the Ganga & 

Brahmaputra river meets? 
(A) Nepal   (B) China 

 (C) Bangladesh (D) Myanmar 

46- Asiatic Lions of National Park of 

Gujrat at will be shifted in which 

Sanctuary of M.P.? 
(A) Panna  (B) Kuno Pulpur 

(C) Chambal (D) Bori 

47- Ban Sagar Dam is built on which 

river? 
(A) Narmada (B) Tapti 

(C) Son  (D) Tawa 
48- Where is Usha Raje stadium located 

in M.P.? 
(A) Sagar  (B) Rewa 

(C) Bhopal  (D) Indore 
49- How many National parks are situated 

in M.P.? 
  (A) 11 (B)09(C) 08 (D)10 

50- How many Lok Sabha seats are 

present in M.P.? 
 (A) 29 (B) 31(C) 30 (D)11 

51- The 'Indian Home Rule Society' was 

found in- 
(A) 1900 A.D. (B) 1901 A.D. 

(C) 1902 A.D. (D) 1905 A.D. 

52- 'Malacca Strait' lies between- 
(A) India and Sri Lanka 

(B) Indonesia and Malaysia 

(C) Taiwan and Philippines 

(D) Australia and New Guinea 

53- Which of the following mountains is 

located in Italy? 
(A) Apennine (B) Pyrenees 

 (C) Dinaric Alps (D) Zura 
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54- Hkkjr esa #i;k pkyw [kkrs ij eqDr :i ls 

 ifjorZuh; eqnzk dc cuk Fkk\ 

(A) 2000 esa  (B) 2001 esa 

(C) 1994 esa  (D) 1999 esa 

55- fxQu oLrqvksa ds fy, ek¡x oØ gksrh gS& 

(A) Åij dh vksj p<+rh gqbZ 

(B) uhps dh vksj fxjrh gqbZ 

(C) ek=k v{k ds lekukarj 

(D) dher v{k ds lekukarj 

56- ftl fons'kh eqnzk esa 'kh?kz ns'kkarj.k dh izo`fÙk gks] 

 mls dgrs gSa& 

(A) nqyZHk eqnzk  (B) lqyHk eqnzk 

(C) Lo.kZ eqnzk  (D) xje eqnzk 

57- ijkxdks'k esa--------- ik, tkrs gS\ 

(A) ijkxd.k  (B) v.Mi 

(C) okg~; ny  (D) vaMk'k; 

58- eqnzk iwfrZ dks de djds eqnzkLQhfr dks jksdus dh 

 izfØ;k dgykrh gS& 

(A) ykxrf/kDr LQhfr (B) ek¡xkf/kD; LQhfr 

(C) foLQhfr  (D) izR;oLQhfr 

59- vkbULVhu dks ukscsy iqjLdkj fn;k x;k& 

(A) lkis{krk ds fl)kar ds fy, 

(B) izdk'k&oS|qr izHkko ds fl)kar ds fy, 

(C) fof'k"V Å"ek ds fl)kar ds fy, 

(D) cksl&vkbULVhu lkaf[;dh ds fl)kar ds fy, 

60- ek¡x dk fu;e vfHkO;Dr djrk gS& 

(A) fdlh oLrq dh dher esa ifjorZu dk 

mldh ek¡x ij izHkko 

(B) fdlh oLrq dh ek¡x esa ifjorZu dk mldh 

dher ij izHkko 

(C) fdlh oLrq dh ek¡x esa ifjorZu dk mlds 

LFkkukiUu dh vkiwfrZ ij izHkko 

(D) mi;qZDr esa ls dksbZ Hkh ugha 

61- C;wVsukWu ,d pkj dkcZu okyk ;kSfxd gS ftldk 

 fØ;kRed lewg gS& 

(A) ,sfYMgkbM  (B) ,sYdksgkWy 

(C) dkcksZfDlfyd vEy (D) dhVksu 
 

 

54- When did the Rupee become a freely 

convertible currency on current 

account in India? 
(A) 2000   (B) 2001  

(C) 1994   (D) 1999  
55- The demand curve for a Giffen good 

is- 
(A) upward rising 

(B) downward falling 

(C) parallel to the quantity axis 

(D) parallel to the price axis 

56- Foreign currency which has a 

tendency of quick migration is called- 
(A) Scarce currency(B) Soft currency 

(C) Gold currency (D) Hot currency 

57- The anther contains- 
(A) Pollen grains (B) Carpel 

(C) Sepals  (D) Ovule 

58- The process of curing inflation by 

reducing money supply is called- 
(A) Cost-push inflation 

(B) Demand-pull inflation 

(C) Disinflation  

(D) Reflation 

59- Nobel Prize was awarded to Einstein 

for- 
(A) theory of relativity 

(B) theory of photoelectric effect 

(C) theory of specific heats 

(D) theory of Bose-Einstein statistics 

60- The Law of Demand expresses- 
(A) effect of change in price of a 

commodity on its demand 

(B) effect of change in demand of a 

commodity on its price 

(C) effect of change in demand of a 

commodity over the supply of its 

substitute 

(D) None of the above 

61- Butanone is a four-carbon compound 

with the functional group- 
(A) Aldehyde (B) Alcohol 

 (C) Carboxylic acid(D) Ketone  
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62- DDT vo'ks"k rsth ls [kk| Ja[kyk esa xqtjkrs 

 gq, tSovko/kZu iSnk djrs gSa] D;ksafd DDT- 

(A) ty esa ?kqyu'khy gS 

(B) olkvksa esa ?kqyu'khy gS 

(C) ekewyh rkSj ij vkfo"kh gS 

(D) tyh; izkf.k;ksa ds fy, vkfo"kh ugha gSa 

63- fuEufyf[kr foVkfeuksa esa ls fdlesa dksckYV gksrk 

 gS\ 

(A) foVkfeuK  (B) foVkfeu B12 

(C) foVkfeuB6  (D) foVkfeu B2 

64- fuEufyf[kr ikni lewg dks ikni txr dk 

 mHk;pjh ¼,EQhfc;u½ dgk tkrk gS\ 

(A) czk;ksQkbV~l  (B) VsfjMksQkbV~l 

(C) 'kSoky  (D) vuko`rcht 

65- fdlh fcac dk vory niZ.k }kjk cuk izfrfcac 

 vkHkklh] lh/kk rFkk fcac ls cM+k ik;k x;kA 

 oLrq dh fLFkfr dgk¡ gksuh pkfg,\ 

(A) oØrk dsUnz ij (B) oØrk dsUnz ls ijs 

(C) niZ.k ds /kzqo rFkk eq[; Qksdl ds chp 

(D) eq[; Qksdl rFkk oØrk dsUnz ds chp 

66- ^QsFkksehVj* dk mi;ksx ukius ds fy, fd;k tkrk 

 gS& 

(A) HkwdEi  (B) o"kkZ 

(C) leqnz dh xgjkbZ (D) /ofu rhozrk 
67- ,d izs{kd dks jsfxLrku esa ,d isM+ dk vkHkklh 

 izfrfcEc Hkze iSnk djrk gS fd isM+ ds ikl ,d 

 ikuh dk dq.M gSA 

(A) ijkorZu   

(B) viorZu 

(C) iw.kZ vkarfjd ijkorZu  

(D) fo{ksi.k 

68- fuEufyf[kr esa ls fdl LFkku ij 2020 ds xzh"e 

 vksyfEid [ksy izLrkfor gS\ 

(A) fj;ks Mh tsusjks  (B) Xyklxks 

(C) VksD;ks   (D) McZu 

69- dEI;wVj esa tgk¡ ,slsljht gSa mls dgrs gSa& 

(A) iksVZ   (B) fjax 

(C) cl   (D) fti 
 

62- DDT residues are rapidly passed 
through food chain causing 
biomagnifications because DDT is- 
(A) Water soluble (B) Lipid soluble 
(C) Moderately toxic 
(D) Non-toxic to aquatic animals 

63- Which of the following vitamin 
contains Cobalt? 
(A) Vitamin K (B) Vitamin B12 

(C) Vitamin B6 (D) Vitamin B2 

64- Which plant group is commonly 
known as amphibians of plant 
kingdom? 
(A) Bryophytes (B) Pteridophytes 
(C) Algae  (D) Gymnosperms 

65- The image formed by a concave 

mirror is observed to be virtual, erect 

and larger than the object. Where 

should be the position of the object? 
(A) At the centre of curvature 

(B) Beyond the centre of curvature 

 (C) Between the pole of the mirror 

 and its principal focus 

(D) Between the Principal Focus and 

the centre of curvature. 

66- 'Fathometer' is used to measure- 
(A) Earthquakes (B) Rainfall 

(C) Ocean Depth (D)Sound Intensity 

67- Why the parent image of the tree in 

desert may create an illusion to the 

observer that the tree is near a pool of 

water? 
(A) Reflection      (B) Refraction 
(C) Total internal reflection  

(D) Dispersion 
68- At which of the following places is 

 the 2020 Summer Olympics proposed 

 to be held? 

(A) Rio de Janeiro (B) Glasgow 

(C) Tokyo  (D) Durban 

69- The place where accessories are 

 connected in computer is known as- 
(A) Port  (B) Ring 

(C) Bus  (D) Zip 

  



 

 

10 

70- jk"Vªh; [ksy fnol fuEufyf[kr esa ls fdl fnu 

euk;k tkrk gS\ 

(A) 29 vxLr  (B) 29 tqykbZ 

 (C) 20 flrEcj  (D) 29 flrEcj 

71- dk¡xzsl dh LFkkiuk fdlus dh \ 

(A)nknkHkkbZ ukSjksth (B),-vks- g~;we 

(C),l-,u- cuthZ (D)ykWMZ MQfju 

72- 1857 ds fonzksg esa dkuiqj esa lSfudksa dk usr`Ro 

 fdlus fd;k Fkk \ 

(A)dq¡oj flag  (B)rkR;k Vksis 

(C)y{ehckbZ  (D)ukuk lkgsc  

73- eqfLye yhx us ^eqfDr fnol* euk;k Fkk & 

(A)1939 esa  (B)1942 esa 

(C)1946 esa  (D)1947 esa 

74- VksMk ,d tutkfr gS tks fuokl djrh gS& 

(A) vjkoyh igkfM+;ksa ij   

(B) e/;izns'k esa 

(C)uhyfxfj dh igkfM+;ksa ij 

(D)foa/;kpy dh igkfM+;ksa ij  

75- Hkkjr dk izFke mPp rduhdh leqnz iÙku gS& 

(A) fDoyu  (B) ukxkifru~ 

(C) ikjknhi  (D) Ugkok'ksok 

76- cSykMhyk ds [kku esa [kuu fd;k x;k ykSg 

 v;Ld vf/kdka'kr% gS& 

(A) gsesVkbV  (B) flMsjkbV 

 (C) fyeksukbV  (D) eSXusVkbV 

77- yksd lHkk esa fdlh fo/ks;d dks /ku fo/ks;d ds 

 :i esa izekf.kr dkSu djrk gS \ 

(A) jk"Vªifr   

(B) foÙk ea=h 

 (C) iz/kkuea=h   

 (D) yksd lHkk v/;{k 

78- o"kZ 1953 esa] tc vkU/kz jkT; ,d vyx jkT; 

 cuk] rc mldh jkt/kkuh dkSu cuh \ 

(A) xqaVwj   

(B) gSnjkckn 

 (C) usYyksj   

 (D) okjaxy 

 

70- National Sports Day is celebrated on - 
(A) 29

th
  August (B) 29

th
  July 

(C) 20
th

  September  
 (D) 29

th
  September 

71- Indian National Congress (INC) was 

 formed by - 

(A) Dadabhai Nairoji 

(B) A.O. Hume (C) S.N. Bannerjee 

(D) Lord Dufferin 

72- Who among the following led the 

 soldiers in Kanpur during the revolt of 

 1857 ? 

(A) Kunwar Singh (B) Tatya Tope 

(C) Lakshmibai (D) Nana Sahab 

73- ‘Day of Deliverance’ "Mukti Divas" 

 was observed by Muslim  league in - 

(A) 1939  (B) 1942 

(C) 1946  (D) 1947 

74- Toda tribes resides in - 

(A) Aravali hills  

(B) Madhya Pradesh 

(C) Nilgiri hills  

(D) Vindhyachal Mountain 

75- The first most technical sea port of 
 India is - 

(A) Quilon  (B) Nagapattinam 

(C) Paradip  (D) Nhava Sheva 

76- The most available iron ore in the 

 bailadila mines is - 

(A) Hematite (B) Siderite 

(C) Limonite (D) Magnetite 

77- Who among the following certifies 
 any bill as money bill ? 

(A) President  
(B) Finance Minister 
(C) Prime Minister  
(D) Chairman, Lok Sabha 

78- When Andhra became a separate 
 state in year 1953, its capital was - 

(A) Guntur   
(B) Hyderabad 

 (C) Nellore   
 (D) Warangal 
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79- lafo/kku ds varxZr Hkkjrh; ykssdra= ds vkn'kksZ dks 

ge dgk¡ ns[k ldrs gSa \ 

(A) izLrkouk  (B) Hkkx&III 

(C) Hkkx&IV  (D) Hkkx-I 
80- e-iz- dk igyk jRu ifj"dj.k dsUnz ij LFkkfir 

 fd;k x;k gS & 

(A)tcyiqj  (B)mTtSu 

(C)Hkksiky  (D)bUnkSj 

81- csrok unh fdlls feyrh gS ;k fxjrh gS \ 

(A)xaxk   (B);equk 

(C)[kEHkkr dh [kkM+h (D)pacy unh 
82- izns'k esa jk"Vªifr 'kklu fdrus ckj yxk \ 

(A)2 ckj  (B)3 ckj 

(C)4 ckj  (D)1 ckj 

83- fuEu esa ls dkSu lk ftyk e-iz- ds e/; esa 

fLFkr gS \ 

(A)jk;lsu  (B)gjnk 

(C)dVuh  (D)'kktkiqj 

84- xtkuUn ek/ko eqfDrcks/k dk tUe dgk¡ gqvk   

 Fkk\ 

(A)';ksiqj  (B)f'koiqjh 

(C)fHk.M  (D)lkxj 
85- dkSu lqesfyr gS \ 

(A)dkUgk jk"Vªh; m|ku  & f'koiqjh 

(B)ck¡/kox<+ jk"Vªh; m|ku  & e.Myk 

(C)ek/ko jk"Vªh; m|ku  & f'koiqjh 

(D)banzkorh jk"Vªh; m|ku  & 'kgMksy 

86- jScht izfrjks/kh oSDlhu dh [kkst fdlus dh Fkh\ 

(A) jkWcVZ dksp   

(B) yqbl ik’pj 
(C) tsEl fyaM   

(D) ,MoMZ tsuj 
87- ikS/ks dk dkSu&lk Hkkx izdk’k la’ys"k.k ds fy, 

 egRoiw.kZ gS\ 

(A) tM+   

(B) ruk 
(C) Qwy   

(D) iRrs 
 

79- Where can we see the ideal of 
Indian democracy in our 
constitution ? 
(A) Preamble (B) Part-III 
(C) Part-IV  (D) Part-I 

80- The first Gemstone finishing Centre 
of Madhya Pradesh was established 
at- 
(A) Jabalpur (B) Ujjain 
(C) Bhopal  (D) Indore 

81- Betwa river meets- 
(A) Ganga  (B) Yamuna 
(C) Gulf of Khambhat 
(D) Chambal river 

82- How many times President rule has 
been imposed in Madhya Pradesh? 
(A) 2   (B) 3 
(C) 4   (D) 1 

83- Which of the following district lies in 
the centermost of Madhya Pradesh ? 
(A) Raisen  (B) Harda 
(C) Katni  (D) Shajapur 

84- Gajanan Madhav Muktibodh was born 
in- 
(A) Sheopur  (B) Shivpuri 
(C) Bhind  (D) Sagar 

85- Which of the following is correctly 
matched?  

(A) Kanha National Park     -Shivpuri 
(B)Bandhavgarh National park  - Mandla 
(C) Madhav National Park    - Shivpuri 
(D) Indravati National Park – Shahdol 

86- Anti rabies vaccine was discovered 
by- 
(A) Robert Koch (B) Louis Pasteur 
(C) James lind  
(D)Edward Jenner 

87- The following part of a plant 
important for photosynthesis is- 
(A) Root   
(B) Stem 

 (C) Flower   
 (D) Leaf 
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88- dkcZu & MsfVax esa dkSu&lk fl)kar iz;qDr gksrk 

 gS\ 

(A) lagfr laj{k.k  

(B) laosx laj{k.k 
(C) ÅtkZ laj{k.k  

(D) jsfM;ks lfØ;rk 
89- orZeku esa e/;izns'k ds egkf/koDrk dkSu gS \ 

(A) joh'k pUnz vxzoky  

(B) iq:"ksan dkSjo 

(C) 'kf'k dqekj   

(D) lqjs'k pkoyk 

90- Ýsap vksiu&2017 ds iq:"k ,dy oxZ dk f[krkc 

 fdlus thrk \ 

(A) LVsfuLykl okofjadk  (B) ,aMh ejs 
(C) jkQsy uMky  

 (D) jkstj QsMjj 
91- bf.M;k gkÅl dgk¡ ij fLFkr gS \  

¼A½ ubZ fnYyh   ¼B½ dksydkrk 

¼C½ yanu  ¼D½ U;w;kWdZ 

92- fo|qr cYc dk fQykes.V fdl /kkrq dk cuk 

 gksrk gS\  

¼A½ yksgk  ¼B½ rk¡ck 

¼C½ VaxLVu  ¼D½ lhlk 

93- ekuo 'kjhj dk vkSlr rkieku fdruk gksrk gS& 

¼A½ 40-50C  ¼B½ 98-40C 

¼C½ 36-90C  ¼D½ 430C 

94- fdl ;kstuk dk eq[; mn~ns’; vkRefuHkZjrk Fkh& 

¼A½ izFke  ¼B½ nwljh 

¼C½ pkSFkh   ¼D½ rhljh 

95- fuEu esa ls dkSulk jkT; rhu vkSj ls ckaXykns’k 

 ls f?kjk gS \  

¼A½ fetksje  ¼B½ es?kky; 

¼C½ f=iqjk  ¼D½ vle 

96- if’kZ;k fdl ns’k dk iqjkuk uke gS \ 

¼A½ FkkbZyS.M   

¼B½ rkbZoku 

 ¼C½ bZjku   

 ¼D½ bjkd 

88- Carbon dating makes use of the 
principle of- 
(A) Conservation of mass 
(B) Conservation of momentum 
(C) Conservation of energy 
(D) Radioactivity 

89- Who is the advocate general of m.p. 
(A) Ravish Chandra agrawal 
(B) Purusendra korav 
(C) Sashi Kumar (D)Suresh Chawla 

90- Who won the French open single 
mens 2017  
(A) Stanislas Wawrinka 
(B) Andy murrey (C) Rafael Nadal 

 (D) Rojar Federer 
91- India House is situated in- 

(A) New Delhi (B) Kolkata 

(C) London  (D) New York 

92- Which element is used to make 

 filament of an electric bulb? 

(A) Iron  (B) Copper 

(C) Tungsten (D) Glass 

93- The normal temperature of a human 

 body is- 

(A) 40.5
0
C  (B) 98.4

0
 C 

(C) 36.9
0
 C  (D) 43

0
 C 

94- Which plan main aim was Self-

 dependency? 

(A) First  (B) Second 

(C) Fourth  (D) Third 

95- Which of the following state is 

 touched by Bangladesh from three 

 sides? 

(A) Mizoram  

(B) Meghalaya 

(C) Tripura   

(D) Assam 

96- Which country ancient name is 

 Persia- 

(A) Thailand  

(B) Taiwan 

 (C) Iran   

 (D) Iraq 
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97- lwph&I vkSj lwph&II dks lqesfyr dhft, & 

lwph &I  lwph &II  

a. loZf’k{kk vfHk;ku   1- 1987 

b. lk{kj Hkkjr   2- 1988 

c. vkijs’ku CysdcksMZ  3- 2001 

d. jk"Vªh; lk{kjrk fe’ku 4- 2009  

dwV % 

a b c d 
¼A½  1 2 3 4 

¼B½  4 3 2 1 

¼C½  3 4 1 2   

¼D½  2 1 3 4 

98- fo’o vkstksu fnol dc euk;k tkrk gS \ 

¼A½ 16 flrEcj  ¼B½ 21 vizSy 

¼C½ 25 fnlEcj  ¼D½ 30 tuojh 

99- lafo/kku lHkk ds laoS/kkfud lykgdkj dkSu Fks \  

¼A½ oh- ,l- jko ¼B½ ds- ,e- eqa’kh 

¼C½ ch- ,u- jko ¼D½ buesa ls dksbZ ugha 

100- laln ds nksuksa lnuksa dh la;qDRk cSBd dh 

 v/;{krk fdlds }kjk dh tkrh gS \  

¼A½ iz/kkuea=h  ¼B½ jk"Vªifr 

¼C½ yksdlHkk v/;{k  

 ¼D½ jkT;lHkk dk lHkkifr 

 

 

 

 

 

 

 

 

 

 

97- Match the following in correct order 
Table – I        Table – II 

(a) All literacy mission 1- 1987 

(b) Literate India  2- 1988 

(c) Operation Blackboard 3- 2001 

(d) National Literacy mission   4- 2009 

Code - 

a b c d 

(A)  1 2 3 4 

(B)  4 3 2 1 

(C)  3 4 1 2  

(D)  2 1 3 4 

98- World Ozone Day is on- 

(A) 16
th
 September (B) 21

st
 April 

(C) 25
th

 December (D) 30
th
 January 

99- Who was the constitutional adviser of 

the Constitution body? 

(A) V.S. Rao (B) K.M. Munshi 

(C) B.N. Rao (D) None of these 

100- Who presides over the joint session of 

both the houses of parliament? 

A. Prime minister   

B. President 

C. Loksabha speaker  

D. Speaker of Rajya Sabha   
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ANSWER KEY PATWARI-100 
1.  A 51.  D 

2.  D 52.  B 

3.  A 53.  A 

4.  A 54.  C 

5.  C 55.  A 

6.  B 56.  D 

7.  C 57.  A 

8.  B 58.  C 

9.  C 59.  B 

10.  C 60.  A 

11.  B 61.  D 

12.  C 62.  B 

13.  B 63.  B 

14.  B 64.  A 

15.  D 65.  C 

16.  C 66.  C 

17.  D 67.  C 

18.  B 68.  C 

19.  B 69.  A 

20.  A 70.  A 

21.  C 71.  B 
22.  C 72.  B 
23.  B 73.  A 
24.  B 74.  C 
25.  C 75.  D 
26.  D 76.  A 

27.  B 77.  D 

28.  D 78.  C 

29.  C 79.  C 

30.  C 80.  A 

31.  B 81.  B 

32.  C 82.  B 

33.  B 83.  A 

34.  B 84.  A 

35.  B 85.  C 

36.  B 86.  B 

37.  A 87.  D 

38.  A 88.  D 

39.  B 89.  B 

40.  B 90.  C 

41.  C 91.  C 

42.  B 92.  C 

43.  C 93.  C 

44.  D 94.  C 

45.  C 95.  C 

46.  B 96.  C 

47.  C 97.  C 

48.  D 98.  A 

49.  A 99.  C 

50.  A 100.  C 

 


